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Using an Amortization Table

You take out a $25,000 loan for a new car. The term is 5 years, and the 
annual percentage rate is 8%. In 30 months, is the remaining balance 
one-half of the original loan amount?

SOLUTION

Create an amortization table for the loan. Notice that after 30 payments (out 
of 60), the remaining balance is not one-half of the original loan amount.
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a. You make all 60 payments on time. How much interest do you pay?

b. How much interest do you pay when the annual percentage rate is 9%? 10%?

In the initial repayment of a lengthy installment loan, most of the monthly 
payment goes toward interest, not principal. This is illustrated in Example 2.
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